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Zlata’s Diary
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1)
	Why was yesterday a bad day for Zlata?
Think and search.
Yesterday was a bad day because Zlata’s Dad had been called by the police reserve.
	1
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	2)
	Where were the family preparing to go for the weekend?
Right there.
Jahorina (the most beautiful mountain in the world).
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	3)
	Why couldn’t they go?
Think and search.
They couldn’t go because Zlata’s Dad had been called by the police reserve.
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	4)
	When did Zlata’s father return?
Right there.
Two days later on Monday 21st October.
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	5)
	Why does Zlata believe everything has turned out all right?
Think and search.
She believes everything has turned out all right because her Dad has returned for his birthday.
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	6) 
	What implications does Zlata’s father being called by the police reserve have for the family?
Think and search.
It means they can’t go away for the weekend and that he would be away for his birthday.
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	7)
	Challenge: Why do think Zlata does not understand politics?
Think and search.
Example answer:
[bookmark: _GoBack]I think that Zlata does not understand politics because she is too young and she has no interest in politics.  Also, it does not affect her directly.
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